Jooooooobobbobo nNuoddooooooooooo

gobobboooobboboooboon

e 0D ODODOODLOODDLOODLOODL ZUODOOUDOODDOODOOD
gobooo

e JOUDUODLUOUDOODLUUODLUOODLOLDDLOLDDLDUObLUObODOD
e JODODOUOOOOOODLOLDDOUOOODLDDOO

e XOUDB UOOOOOBOOOOOOOOH,(X\B,U\B)~H,(X,U)
000000

e H(OO)=Z (x=0),20(x£0). 000000

00000000XD>ADV,A00DOOVOOOODOOOXD>UDAD
00000 U0000000 f;: X\V — X\V (t€[0,1))00 fo = idx\v,
FIANV) =iday (t€[0,1]), LU\V)CU\V, AU\V)C A\VOOOOO
000000000000000A4\VOU\VOOOOOOOOO0OO0OOmMmOoOo
000000 (X\V,A\V) — (X,A) 000000 H(X\V,A\V) 2 H,(X, A)
00000000000

00000000 (X\V,A\V) — (X\V,U\V), (X,A) — (X,U), (X\A,U\
A) — (X,U), (X\AU\A) — (X\V,U\V)0OoOOO

D000,p00000 XO0ODOOOOO (U,e) 00000000000 D*O
O000eD")={xeR"| ||z <1} 000000V =X\D", A=X\int(D")
D0000U=X\D? (p(D)={z€R" ||z <) 0000000

00000000(1)00000000000000AH,([0,1],{b})0000000
00be[o,1].

(2)0000 (jo,1],{0}), ([0,1],{1) 0000000000000 (j0,1],{0,1}) O
00000000000000AH,.([0,1),{0,1)00000

000000008 ={(21,22) € R? | 1% + 2% = 1},

St ={z=(x1,23) €5 |21 20}, SL ={z=(z1,22) €S |2, £0}0000
(S1,08%)0 (St,oshyooooooooooo(o,1,{o,1}) 00000000
DO000oooooooooo (S:,081), (Sh,sh)yoooooooOoOoooooo
H,(St,Sl)y=H, (sL,058,)000000H.(SH)ODOOOO



00000000D"={zeR"| |z <1}, S" 1 =0D"={z e R" | |lz|| = 1},
St ={r=(21,...,3,) € S"! ’ z1 2 0},
' ={z=(21,...,2,) €S" ! |z 20} 0000
L(D2,6D?) 00000
H.(S>)0O0000
H.(D?* oD 00000
H.(S$*)00oooO

2
3

(1
(
(
(4

) H
)
)
)

OobodbnbO00bO0ooooboo R"obogoboooboobooboobogon

000000D" = {zeR" ||z £1}, 5" = {zeR"| |lz[[=1} 0000
Doo000dO0 »:D* — 810 r|S*t=idg-» 0O000DODDOO0O0O0ODODOO
0ooo

00000000 qé:S"!' —Dproooooooon

OooooooooooooooD f:D"—D"0O000 f(z)=2000 z€ D
gbobobboogobboooooboboooomm

0000000000 f(r)#42000000 f(x),200000000D"000O0O
gbbzs0000bbbuooobbbboooonobbuoooobbbod

0000000000 f:8"— S"0000000000deg f=0000000
00000 deg fO Ho(S™Z)~Z0O0O0O0 1000000f(1)=n-10000
deg f=n000000



